These questions are from Y3 - you should be able to complete a challenge in 5 minutes. If you are finding
some questions tricky - these are the areas that you need to practise.

Arithmetic Challenge 3

Arithmetic Challenge 4

8 x 8= 32+ 4= 212 + 380 =
745 — 514 = 36+ 3 = 3x7=
237 + 162 = 947 — 123 = 411 + 568 =
4 x 9= 27 +3 = 651 + 107 =
7x8= 689 — 232 = 88 + 8 =

3x8-= 15+ 3 = 537 + 231 =
674 — 132 = 4 x5 = 48 + 4 =
644 + 251 = 750 - 260 = 8 x 10 =
3x12= 32:8-= 846 + 127 =
951 - 473 = 4 x2 = 765 + 248 =




Arithmetic Challenge 3 Answers

Arithmetic Challenge 4 Answers

&= 8 =064

32:4=8

212 + 380 = 592

T45 — 514 = 231

36 +3=12

3IxT7=2

237 + 162 = 399

947 - 123 = 824

411 + 568 = 979

3x8=24 15+3=5 537 + 231 = 768
674 - 132 = 542 4 x5=20 48 + 4 =12
644 + 251 = 895 750 - 260 = 490 & =10 = 80

4 x 9 = 36

27+3=9

651 + 107 = 758

3 =12 =36

32+-8=4

846 + 127 = 973

7% 8 =56

689 - 232 = 457

g8+8=1

951 - 473 = 478

4 x2=8

765 + 248 = 1013




